7Y — Padayl s’
BT R (ARSI [E4m 3 HE) H24/06/22
| FETE%)  FETREFIZA)  FEFIZRA)
BOEMEHEY =E3 18.1 23 127
thDEkE - 2B ACARR 0.0 0 5
NEEMEICARR 100.0 2 2
1t SEAU R IC AR N/A 0 0
Z0ith N/A 0 0
B 18.7 25 134
HEOEMHEM =E3 1.4 2 145
thDEkE - 2B ARCARR N/A 0 0
IrEEMRERICARE 0.0 0 1
1t SEAU R IC AR 0.0 0 1
Z0ith N/A 0 0
B 1.4 2 147
EBEOEEEHEY =E3 7.3 6 82
thDEkE - 2B ACARR 0.0 0 2
IrEERERICARE 0.0 0 1
1t SEA R IC AR N/A 0 0
Z0ith N/A 0 0
B 7.1 6 85
SEXPSIUMOENEHEY |BE 9.1 22 243
thDEkE - 2B ACARR 50.0 2 4
IrEERERICARE N/A 0 0
1t SEA R IC AR 100.0 [ 1
Z0ith N/A 0 0
21k 10.1 25 248
SMLmHIEE =E3 9.5 6 63
thDEkE - 2B ACARR N/A 0 0
NEEMEICARR 100.0 2 2
1t SEA R IC AR N/A 0 0
Z0ith 0.0 0 1
B 12.1 8 66
fiti ¢ =E3 3.2 27 838
thDEkE - 2B ACARR 50.0 4 8
IrEERERICARE 145 11 76
1t SEA MR IC AR 6.3 1 16
Z0ith N/A 0 0
B 4.6 43 938
I B =E3 0.0 0 121
thDEkE - 2B A CARR N/A 0 0
IrEERERICARE 0.0 0 3
1t SEA R IC AR 0.0 0 1
Z0ith 0.0 0 2
B 0.0 0 127
[REEES =E3 4.7 9 192
thDEkE - 2B ACARR 9.1 [ 11
IrEERERICARE 154 2 13
1t SEA MR IC AR 0.0 0 2
F0ith 20.0 1 5
B 5.8 13 223
i HH HE 17.8 13 73
thDEkE - 2B ACARR 0.0 0 15
IrEERERICARE 42.9 3 7
1t SEA R IC AR N/A 0 0
Z0ith 100.0 1 1
B 17.7 17 96
FEPRIA =E3 0.6 1 160
thDEkE - 2B ArCARR 25.0 1 4
IrEERERICARE 50.0 1 2
1t SEAU MR IC AR N/A 0 0
Z0ith 0.0 0 1
B 1.8 3 167
KIEEEEHER =E3 14 1 74
thDEkE - 2B ArCARR 7.1 1 14
IrEERERICARE 5.0 1 20
1t SR IC AR 0.0 0 4
Z0ith 0.0 0 1
B 2.7 3 113
BiEE =E3 0.0 0 40
thDEkE - 2B ARCARR 0.0 0 2
IrEERERICARE 50.0 1 2
1t SEA R IC AR N/A 0 0
Z0ith N/A 0 0
B 2.3 1 44
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| FETE%)  FETREFIZA)  FEFIZRA)
SR & =E3 0.0 0 207
thDEkE - 2B ACARR 0.0 0 [
IrEEMRERICARE 13.6 3 22
1t SEAU R IC AR 0.0 0 3
Z0ith N/A 0 0
B 1.3 3 233
SRER =E3 0.0 0 74
thDEkE - 2B ARCARR N/A 0 0
IrEEMRERICARE N/A 0 0
1t SEAU R IC AR 0.0 0 1
Z0ith N/A 0 0
2% 0.0 0 75
RE R iE =E3 0.0 0 151
thDEkE - 2B ACARR 0.0 0 3
IrEERERICARE 0.0 0 5
1t SEA R IC AR 0.0 0 2
Z0ith 0.0 0 1
B 0.0 0 162
BT 3L AR AR KA =E3 0.0 0 37
thDEkE - 2B ACARR N/A 0 0
IrEERERICARE N/A 0 0
1t SEA R IC AR N/A 0 0
Z0ith N/A 0 0
B 0.0 0 37
BNE =E3 0.0 0 166
thDEkE - 2B ACARR N/A 0 0
IrEERERICARE 0.0 0 6
1t SEA R IC AR 0.0 0 1
Z0ith N/A 0 0
B 0.0 0 173
F¥ =E3 0.0 0 15
thDEkE - 2B ACARR N/A 0 0
IrEERERICARE N/A 0 0
1t SEA MR IC AR N/A 0 0
Z0ith N/A 0 0
B 0.0 0 15
FEMmiE =E3 0.0 0 78
thDEkE - 2B A CARR N/A 0 0
IrEERERICARE N/A 0 0
1t SEA R IC AR N/A 0 0
Z0ith N/A 0 0
B 0.0 0 78
HIViE =E3 1.0 3 304
thDEkE - 2B ACARR 0.0 0 6
IrEERERICARE N/A 0 0
1t SEA MR IC AR N/A 0 0
Z0ith N/A 0 0
B 1.0 3 310
BHERARURERER =E3 0.0 0 119
thDEkE - 2B ACARR N/A 0 0
IrEERERICARE 0.0 0 1
1t SEA R IC AR N/A 0 0
Z0ith N/A 0 0
B 0.0 0 120
AEDEMHEM =E3 0.0 0 70
thDEkE - 2B ArCARR 0.0 0 [
IrEERERICARE N/A 0 0
1t SEAU MR IC AR N/A 0 0
Z0ith N/A 0 0
B 0.0 0 71
FRBE & AE =E3 0.0 0 5
thDEkE - 2B ArCARR N/A 0 0
IrEERERICARE N/A 0 0
1t SR IC AR N/A 0 0
Z0ith N/A 0 0
B 0.0 0 5
BREAILZT =E3 0.0 0 127
thDEkE - 2B ARCARR N/A 0 0
IrEERERICARE N/A 0 0
1t SEA R IC AR 0.0 0 1
Z0ith N/A 0 0
2K 0.0 0 128




